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Equazioni esponenziali

37.

38.

39.

40.

25X+2 + 25x+8 _ 32x+l - 912
2% 2% + 2°* [2° — 32° [B2 =912 pongo 2°* =t
4t+256t-32t =912 = 228t =912

t=4 = 2=2° = 5x=2 = x:%

Al T

5[5*R+i(:10 pongoSﬁ:t
5X

5t+§=10 = 5t?-10t+5=0 = t?-2t+1=0

- (t-1)2=0 = t=1 = 5*=5 = x=0
54X—l 53X 51—X

51 - 51 - 5l-2x +5=0

5% - 5"l _B5X +5=0 pongo 5* =t

t* -5t -t+5=0 = t*(t-5)-1(t-5)=0
(t-5)(t?-1)=0 = (t-5(t-1)(t+1) =0
t=5 = 5 =5 = x=1
t=1 = 5 =5 = x=0

t=-1 = 5=-1 = imp.

50 (ij -133 (
25
2X
50 [Ej -133 (
5

50t? -133t+20=0 = t,,

j +20=0

aln gllN

j +20=0 pongo (éj =t

_133£117 _
100
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2x =X
41, 4(§j +15(§j =19
2 2
X 2 X
4((§j ] +15 : - =19 pongo (Ej =t
2 [3 2

4t2+1t—5:19 = 4t>-19t+15=0

Applicando la regola di Ruffini: (t — 1) (4t*> + 4t = 15) =0

X 0
t=1 = (§j =(§j = x=0
2 2

3
-2+ .,/4+60 2
A2 +4t-15=0 = t, = = 2
y 4 _§
2
X 1
t :.§ = (.gjj = (E%j = x=1
2 2 2
5 (3)*_ 5 :
t=-—— = |- | =—-7 = 1m.
2 2 2
52X—l
22 5@ *-32__=0
5
x-1 x-1 x-1
508! =305} R e
30b 30b 3 5
x=-2 0
= (gj —(gj = X-2=0 = x=2
43. 3 [BZX + 72X+1 — 32X+2 + 72X
3[82X_32|:82X+72X|:|71_72X:O
3 (3-9)+7>(7-1) =0
2X 2X
M 46 =0 = 7= = L =3
32X 32X

2x 2x 0
(Zj =1 = (Zj =(Zj = 2x=0 = x=0
3 3 3
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44, € +e-2=0

Pongo: € =t = t?+t-2=0

t :—1im:<l

1,2 2 __2
t=1 = e =€ = x=0
t=-2 = € =-2 = imp.

7 3x+1
45 e +ed =g +e 8

7 1
(e)°+ed -’ [ -e*[k* =0 pongo e =t

7 1 1 7
t?+e* -e’t-e’t=0 = t’-t(e?+e¥)+e’=0

1 2 7 I 1 1 2

. _e+retret+ed+2e®-e _ el+etx(e?-e) _ [ ©

= = = 1

-2 2 2 o3

— a2 X — A2 =

t=e = e'=¢e = x=2
1 c 1
t== = e'=e = Xx==
3 3

46. € +3e -4=0
Pongo: € =t = t*+3t-4=0

_—Siw/9+16 =<1

t

2 2 -4
t=1 = €= = x=0
t=-4 = e =-4 = imp

3x+8 X+2

47. e ?2 -—-e? +¢e*-1=0

§x+4 £x+1

e2 -e +e7-1=0

3, 1, 1y

e2 [k'-e? [(k+e[¥-1=0 pongo €2 =t
eftP-et+et?-1=0 = et (et+1)-(et+1)=0
= (et+1)(e’t*-1) =0

1 _ .
et+1=0 = t=-= = e =-e° = imp.
€

1

E€t?-1=0 = t*==

@



